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9. If a and b are the real numbers that maximize | (4 — 2?)dz, then a + 2b =

(Hint: Graph the function f(z) =4 — z?).
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3. The average value of the function

4(z* +1)
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over the interval [1,4] is ]
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4. Let f be a continuous function and ¢ be a positive real number such that
T
/f@ﬁ=ﬁ+h—3
c

Then f(c) =
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(a) 6(1—)} —10(1 —2)} +C
(b) 6(1 —z)} —4(1—2)? +C
(c) 4(1 - ) —10(1 —z)2 + C
(d) 4(1 — 2)% — 6(1 —2)? + C
(e) 10(1 —x)f —6(1—2)% +C
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11./ sech®z tanh z dz =
5
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12. The area of the region bounded by the graphs of z = 4 — y? and = y + 2 is equal

to
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13. The volume of the solid generated by revolving the region bounded by the graphs
of y = 22 and y = 22 — 2% about the z-axis is

Similay Yo A ¥ 15 (& ‘\Dcub;z,’\ﬁe 156

(correct)

—~
o]
N,

—
=

T
W O Ny wly
3 3 3

—~
(¢°]

14. The volume of the solid generated by revolving the region bounded by the graphs
of x = y? and x = 4 about the line = 5 is given by the integral:
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